ﬁ@@@%%%

Ridge/ :ﬁl[nw%] 138& FiF
BFEFP (2): 23

I A s\ =
l;a\ P IS SAN

102 # 8¢ 4 R A FAL
¥+ -4 3] [E8601])

XFHEB > FE rd B

AR OEERFHRAERE A HL B F BB BT Ao P R THE R

AR RIE o BRI A

QAFL 5 -%HEs > 255 A4E2 2L EHI > LML EE 50~ o

QA FE /I F 2 MmN I LT L,ﬁ:jﬂntg CHEEREPMF-TRRE R 2
FARVGFES ol 0 3 388 f kT 5

@33%§$%J%%%%*ﬁ*~»%L&i%m1&§$#Mfﬁﬂv+ .

OAFRPFHFAER*JFLATFIFERE (FLEPMBdI k- 1SN RN Hia) 27
g BEE B R A w@pﬂm PARTZTFIFEERENL G AR SR E N DR
Lt H ,gzwmo» PRIV R B ERAAF RIS RRER SR -

@FXLHAIHY » A ¥ ﬁﬁﬁuﬁﬁ“ﬁo

P -
SOPBEIE 1S AT AR BREYF REIHA, 0 B 0 Mg gl os
0.6-c 3 B s 0.7-7 vodr4mpd s i 0535553 * 1| 50 55 F2 -

BREIGED FLY e B ATRAIT GRS THPPF L ACBAURLT ~ ok
%_ﬁjj@fﬁ&o

(,_)?"ZA_FFB{;:@‘B “ T ﬁfi‘,g&] %E’ gk L ? [10 4 )

(:)éﬁs 50308 ¢ > 7T v oA WA R B D SRl IRICE Bea e 0 g p 32

d -[8 4]
(3)’L HBOMB Y o FEY A ?7%’:5”7“@@”5'*20 (e z 5=
20) mﬁ&gﬂzo(,P%ﬂ)‘\le% d».E'Tt'! )[124’\]
]

(o) HFuF g A28 (2)
[20 ~ ]
PR ¥ AL 4 fe CDF » TP(Z < x) = ®(x)]

m%}&ﬁ TR Y i COF R % % -

[#% 7

P =
CIPNE £k AB A Maod FREFER > L Besd 10 FIt Xk w (7% R ok
ATl s R e T C(H i o)
B AL kv T o L
K 30.00 4.37
A i 34.35 7.21
Rw AL —4.35 7.76
S 38.94 10.12
B i 48.20 13.03
ke XL -9.26 13.66

ARBRRFREFEER K w2 kv L2+ BT80S 4T 5 flag > Has® Uap’ T A5

T\ “'?’GA]_‘GAEZ‘GAD PE'EW’B ﬁf’r%ﬁﬁ&j\ W«}iiﬁﬂi?—irgﬁl-}")ﬁié,\ T\ “F‘*#Bl
pgs % ppp > HRE L 4 B4 T 5 0p; > 0Opy% Opp °
Bk ot PRMJ# AL o ARAR¥R R B o 53 ’F T ANEP AN kT (R B

N B - R LI E
mfr—'ﬁ'!&.f—rﬁl)-
(=) 5% kg p&T e AR "R e RER LT Y T nERER?
[164\]

RITB 2R TEF ) AR RT (R |¢Aiﬁ_l§m2}&£i&xg

(Z) FENBARAKRPFREFEFLHI5%EHFEF -[10 4]
(=) @5%%{1%‘*7&;@* CHHRETABAMGkr FREFLEEF LR ? [24 4]

PEREF A aTRh Btz R 0 PP =z)=1—a> 7 zy0, = 2326
Zggas = 196~ 25 s = 1.645 ~ 25, = 1.282 -
pdRKtAFaTRh BiFY o7 TP(Ty<tpa)=1—0a>
f lopoy = 2.8214 ~ T oo = 2.2622~ Lo 05 = 1.8331 ~ t4,, = 1.3830
Eio001 = 2.7638 > T10000s = 2.2281~ T4p 005 = 1.8125~ ty5 04 = 1.3772;
fia001 = 2.5524 ~ ty50025 = 2.1009 ~ £33 095 = 1.7341~ 154, = 1.3304 ;
Tr0001 = 2928 ~ tog0.005 = 2.086 ~ ty00.05 = 1.7247 ~ t,00, = 1.3253 -
pdBuVHFLfalehgrif, %7 > TP(E,<fis.)=1—a’

fos001=53511" fiaposs =2.0260 * fs 0005 =3.1798 « g0, = 2.443 ;

fio.10.0.00 = 48491 ~ fig10,0.025 = 3.7168 ~ fip 10,005 = 2.9782 ~ fig1001 = 2.3226 ° ]



